Physics 420 – Spring 2006

Solutions Problem Set #6

Dennis Papadopoulos
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Thomson’s device will work for positive and negative particles, so we may apply 
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(b)
As the particle is attracted by the negative plate, it carries a positive charge and is a proton. 
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(d)
As 
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 there is no need for relativistic mechanics.
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(b)
As the atom is initially at rest, the momentum of the photon, 
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, must equal the recoil momentum of the atom:
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This tiny amount of energy comes from the photon’s energy making ( slightly longer than 102.517 nm.
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Thus the photon frequency is about halfway between the two frequencies of the revolution.
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Call the energy available from the 
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The kinetic energy K of the Auger electron is equal to 5.875 keV minus the energy required to ionize an electron in the 
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Divide (1) and (2): 
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